% N AVE L(Pyrrgagy)

26. AsO, +1,+4 OH ==AsOj +2 1+ 2H,0

o nE® _ 2x[0.535-(-0.68)] _
lgK™= 0.0592 0.0592 41.047

KZ1.11x10%



32. BBEIER
DAB/Cr3* 582 4 & sk, £ RM(OH),#H,S.
2 AB* + 3 S + 6H,0 == 2 AI(OH) v+3H,S T
2 Cr¥ + 3 $ + 6H,0 == 2 Cr(OH),\+3H,S T
2)F & R A ZA-T R B A, H,SE T ASE .
2Fe3* + H,S == 2Fe?" + 2H* + S
3) MnS /£ B B M 4 FAE R, AR K, TH#
H+25 69 s NH ", FBEARE R 0B .
H,S +Mn?* +2NH,-H,0 == MnS{+2NH,* +2H,0

2




H,S + Mn2* == 2H* + Mn$S

. [H*]? Kon X Koz 1.1x 1077 x 1.3 x 10713
L IM2H|[H,S] T Kspouns) 1.4 x 10-15
= 1.02x 107>

H,S + Mn?* +2 NH,-H,0==2NH,*+MnSY + 2H,0

X [NH]]? _ Kay X Kgp X (Kp)?
? " [MnZ*][H,S][NH3 - H,0]  Kspmns) X (Ky)?




41. [Zn?*] = 0.010 mol-L-! [Cd2*] = 0.020 mol-L-!
[H,S] =0.10 mol-L-! [H*] =0.30 mol-L-!
HS— T3, AAE_REH
H,S == 2H" + S*

[H*]* [$*7]_ g
[H,S] .

2K =1.1x1077x1.3x10-13=1.43 x10-20

[$41=" e =1:59 x102 mol- L

=120 ][S¥]=1.59x102 <K _(ZnS), ¥ Rk &
Jas=[CA>][S¥]=3.18x10-2>K_(CdS), # %«



4148 %R 2 38 3| 4
Cd* + H,S==CdS { +2 H*
R R 0.02 0.10 0.30 mol-L-!
ﬁ—?— I, X 0.30+2 (0.02-x)
Zwg, (RIER R 8 -F#w AT K)
[H+]—F4%r 0.34 mol-L-!

1.43x10 2°%0.10
(0.34)>
K_ (CdS) 8.0x10 27

24+1—_"s L e -7 -1
Ca =l = =645 x10 mol-L

[Cd2+]/f£’ﬁ'-10 Smol- L, 2R EE4A

[S*]= =1.24 x10-**mol-L-!




55. (1) SO, SO;*, S,0,>, S,*

(a) o BRI/ FRAAER, IEHIERE ; SO%, HBR L
BRI %; SOFVTEREA R HMEEIR, TIERLOLRE;
S,0.7 R G A X e RIG &I, B AR
PEARARE A, TiESRORE; S, WmBRA X E R
8 eItiE, FIA ZYERRAMR, TIHHERLAKLE)

(b) HHwAgNO;, IEF F

(2) C10°/ C10O5

(@) & 2 77, ClO BL#E 24Ll Mn** AL, % MnO,;
& A A BB F T R AT E AL
(b) pHAA £ 7+ (AT & 3548k, a8 T 1)



59. 10y —— HIO —— 1,

(1) E(HIO/L,)=5x1.195- 4 x 1.13
=1.455V
(2) HIO2 & £ 8L B m
5 HIO =21, + HIO, + 2H,0



